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▶ Similarity measure

▶ Statistics on trees

Problem: Computing distances is NP-hard

Exception: RNNI
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Time trees
Ranked Trees
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HSPR – Horizontal Subtree Prune and Regraft
HSPR move
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HSPR space

a1 a2 a3 a4 a1 a3 a4a2

a1 a3 a4a2

a2

a2a2

a3

a1 a2 a3 a4

Theorem
The HSPR space is connected.

8



HSPR space

a1 a2 a3 a4 a1 a3 a4a2

a1 a3 a4a2

a2

a2a2

a3

a1 a2 a3 a4

Theorem
The HSPR space is connected.

8



HSPR space
What if just ranking changes?
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Theorem
There always is a shortest RSPR path with first rank moves, then
HSPR moves.
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HSPR space
n = 5

▶ Neighbourhood size: (n − 1)(n − 2)
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HSPR space
n = 5

▶ Neighbourhood size: (n − 1)(n − 2)

▶ Diameter: ⌊32(n − 2)⌋ (conjecture)
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Clusters
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